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1. (a)       . 14 

                        
  (i)     ?       ? 7 

  (ii)       . 7 

 (b)      4 
  (1)       “”     ? 
   (a)   (b)    

   (c)   (d)    

  (2)         _________    
   . 

   (a)  (b)   

   (c)  (d)    

  (3)     ________   . 
   (a)   (b)    

   (c) (a)  (b)  (d)    

  (4) ________        . 
   (a)  (b)   

   (c)  (d)    

 

2. (a) (i)       . 7  

  (ii)      . 7  

                        
  (i)     . 7 

  (ii)     ?   .  7 
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 (b)      4 
  (1) _______       . 
   (a)     (b)    

   (c)   (d)    

  (2)         .        
  . 

   (a)  (b)   

  (3)       _________    . 
   (a)   (b)    

   (c)   (d)    

  (4)   () ,       ? 
   (a)   (b)    

   (c)  (d)    
 

3. (a) (i)     ?    . 7 

  (ii)       . 7 

                        
            . 14 

 (b)     3 
  (1)    . 
  (2)     . 
  (3)         “” . 

 

4. (a) (i)  –  –   . 7 

  (ii)       (Area)    . 7 

                        
  (i)        . 7 

  (ii)     .  7 

 (b)      3 
  (1)     ,           
   (a)  (b)  (c)     
  (2)          ______ . 
   (a)  (b)    
   (c) - (d)   
  (3)      /    ________  . 
   (a)  (b)   
   (c)  (d)  

____________ 



MO-151 3 P.T.O. 

Seat No. :  _______________
  

MO-151 
March-2019 

M.Com., Sem.-IV 

510 EA/EB/EC : Strategic Financial Management  
 

Time : 2:30 Hours]  [Max. Marks : 70 

 
 

1. (a) Explain discounted cash flow approach of corporate valuation. 14 

                            OR 

  (i) What is corporate valuation ? Why there is need for corporate valuation ? 7 

  (ii) Discuss Marakon approach of value based management. 7 

 (b) Choose the correct option : 4 

  (i) Which of the following model of value based management considers 7S 

framework ? 

   (a) Miller Model  (b) Mckinsey Model 

   (c) Marakon Model (d) Alcar Model 

  (ii) Valuation is the process which links _________ and return to determine 

worth of an assets or corporate. 

   (a) Cost (b) Value 

   (c) Risk (d) None  

  (iii) Adjusted book value reflect _________. 

   (a) break-up value (b) replacement cost 

   (c) both (a) and (b) (d) None  

  (iv) _________ approach is based on discounted cash flow analysis. 

   (a) Marakon (b) Mckinsey 

   (c) Alcar (d) None 

 

2. (a) (i) Explain importance of dividend policy in strategic financial management. 7 

  (ii) Discuss Lintner’s model of corporate dividend behaviour. 7 

                OR 

  (i) Discuss guidelines of bonus issue. 

  (ii) What is dividend policy ? Explain its types. 
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 (b) Choose the correct option :   4 
  (i) _________ is now widely accepted as main corporate objective. 
   (a) Creating value for shareholders (b) Profit maximization 
   (c) Wealth maximization (d) None of these 
  (ii) A firm that follows a strict residual dividend policy is likely to maintain a 

stable pattern of dividend over time. 
   (a) True (b) False 
  (iii) For company, wealth created is reflected in _________ of its shares. 
   (a) Market value (b) Book value 
   (c) Asset value (d) All of these  
  (iv) The number of shares is increased by reducing the value of share under 
   (a) Stock split (b) Bonus share 
   (c) Dividend (d) None  
 
3. (a) (i) What is industrial sickness ? Explain causes of industrial sickness. 7 
  (ii) Explain ratio analysis as a tool for prediction of sickness. 7 
                                OR 
  Explain effect of inflation on financial market return and firm value. 14 
 (b) Answer the following :   3 
  (i) Define industrial sickness. 
  (ii) State Altman model of prediction of sickness. 
  (iii) State four “R” of diagnostic study in revival of sick unit. 
 
4. (a) (i) Discuss leveraged buy-out.   7 
  (ii) Explain reasons and broad areas of Restructuring. 7 
                             OR 
  (i) Discuss economic rationale and tax benefits of merger. 
  (ii) Explain importance and limitations of expansion. 
 (b) Choose the correct option :   3 
  (i) Reverse merger means a smaller company merged with a large and more 

influential company. 
   (a) True (b) False (c) Can’t say 
  (ii) A public offer by one firm to directly buy-shares of another firm is called  
   (a) Merger (b) Tender offer 
   (c) Spin-off (d) Consolidation  
  (iii) The acquisition of a firm in the same industry/market is called _________ 

acquisition. 
   (a) Vertical (b) Conglomerate 
   (c) Horizontal (d) Forward  

_____________ 


